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Q1.

18 &b T of A fordarfosfadd deretl ue fadre ohifad-

1. TS Th RGBS BT cergl

2. geTh] THAT FETol, SAT8ule, SITSASAT, ol ATH! dAT hlov]
fArodt gl

3. 5T 8fiMfesch faedre diel AT &grer, dTecs 3¢ &dTelT A §eT g3 2l

3IULh A @ BIT-AT/A Herel T /82
1. PIB 1
o, PIB 23T 3
3. PadB 130 3
4. 3UH A A BIg olgl|

N O Y a—

foufesad d

The correct answer is: 3

Solution:

3de: (¢)
TET .
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. TS TH RIBEE ABTdhT Gergl

« D Ud A gTol, Uf Y A ITgule, SITgufifedr, hddol, 3¢ A
ST d&uT SfEuT & Feg-3rEhTdhT IuTers fRrd §l

o TS diol o9MIfesch &7l o ST §3MT §1 §eTohl ITel 8191 HAETLT &, e
BT SBTHT ATeo 31 SfEuft 19T TAATaIT &

o SHDBI oITH ATS Sfid B oITH UL UST &, U1l S BT AT d81 RGBT
& g1 SDhT TTALTST Tal' STTAGT (N'DJamena) &

o BT g, sgdich 3 3TIfTd ddch IS E[eell Ufeue & ool & afTed
o1 ITS & dTe o 3ile IT8 i &F A ATdl 3Tddharg, ATGd UgrAT bl
d&hdl dT 3uerell o chIeul Geall el Ue fTdl o o1 g

T UBTe, B 1 30T 3 T&l &1 31d: fah e (¢) TEt JaT &l

Q2.
Co.d1.C. dud TA. B .-1A B dcof A fordoifosfid deell U fadare dhiford-

1. 54 T elt &0 & feulrgel aoT fdefad fovar IraT &l

2. Ig fA9ITel, schagiforcs aTethae e, f[adTes fav]sres uf fardTse dem tae-g-
TUT W51 vt ufdiTesel efddish & o gl

3. SABT fol AT fggedisl Taelalifead fesfaree grer faar Irar g

3UYch & & hlol-d hel Hel 82
1. B 130T 2
o, PIB 23T 3
3. PadB 130 3

4. 39h Haftl

The correct answer is: 4

Solution:

3de: (d)
TET .

* WBISC DlddC TATBITT (LCA) duldl TH.&b.-1A 38Ih fadATel Zageft
&U & ATl ot fawfad faar Irar gl
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o g AT 4+ U@l @ Hdfed g ol gdagifolch dTehde ge, f[adies
fav]31es Sof (BVR) fHEATE S, Tfred gedargifolches] &dhog T2 (AESA)
ZETT, 3¢ TUL-C-CE FRTURG[TSIT (AAR) TTeT 3cdTelforeh Ufeimesal
eraTaTa a S gl

o 3fTAfoT8{c 8Ted Uges b ded, fEgedrol Taelaifcad fosfares (HAL)
§T21 54 feursdl, fAomfad aife farfafd fasar srar 2|

o g g A, difAdiges o amedia a1 doll o {58 10 duTdl TaH.&b.-1C
Tferefor fadTel 3T 73 Tes 2T, doTd TH.h.-1C el fadTal ol
Tdte &b fosd ol ueTel o1 &l

4 UbTe, Iuch daft Hefel det gl 3id: fahed (d) det Iae &l

Q3.
T h IS el ufdue & daof i fordoifosfad dhereii ue fadre H1fad-

1. STH 5 RATS doT 7 ARTS AT Id &l

2. G 2021-22 & o5 8iTed el Ufeue T 3RITs dad o &U & fordifd g3l
gl

3. HTZd ATAdT 9T 3IRITE AT a7 ¢

I0ch A A DIoT-AT/A BHefel T /82
1. B 1312 2
2, HI3 2
3. PdB 130 3

4. 3Th Fafil

The correct answer is: 2

Solution:

3de: (b)
TET .

o TTh TG el Ulde 15 AR fAThT1d g, [ 5 TRITE daT 10
IRTE ST E1d ¢l
o STPB WTE T &- AARHT, o, el wid 3 faeal
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o d¥ 2021 & 8Td & HIA-ATY oT1d, BHodT, AL 3T Afcerad] off
AT ASH Tl &, Tdfcb TeeIfordT, siTsule, dc fddc Ud dalsrsd,
i 1ferdT 3ie faadelTel Uges & g 31eTs daed &l

o 3TZd Y 2021-22 b (5T TS T 3TRITE A& Toll 81 5T gd
ared Iy 1950-51, o 1967-68, oo 1972-73, oy 1977-78, oo 1984-85,
% 1991-92 31 % 2011-12 A 3TRITE TS T FolT T|

S UPbTe, B 1 3012 3 ITHd &l 3d: f[dmed (b) &T&t 3¢ &l

Q4.

forgarfosfaa grel aan defera a4 ue fadare ohifad-

gre AR
1. GlTes HeHD
2. Algst LIUILS|

3. ATToT-Bbeld hedHAte

4. oNTl fdg  afdrcselTs

3ULch A & hlol-& del FaAford g2
1. PAG 1, 2 AT 4

o, Hham 23T 3
3. Hadm 13T 4
4.%6651,33%’4

The correct answer is: 2

Solution:

3de: (b)
TET .

o UNTH TIETT dl’?1cv>o1|§aer’d1o1|<u GITdT 2l
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o Olgel faEt der fEg3i gTer AITIT Wlel dTesl ATgTe &, Uil HA&ad:
UoATd, Ef3ATUTT 3ie TTda]-oh 2 Te A AITAT AATAT 8|

« ATTST-Held HedAe d dUT Il fdg 3aH H S delg b T
FSTTE oTTal aTes Yo ATETe &l

o 3D AATeh, IACTAUT I[ALTd &, 'FADhE HBTAT dolfcdh 3 T
Tt ud 3d¢ ueel, fdgre Bd eesEs & AT dTal aTe A1ETe &l

gl UYhTe, JId 2 m3ﬁm§,m1m4ﬁmaﬁﬁl
31a: fased (b) FE 3T Bl

Q5.
CfeldTs gI3dT12T 9ecs o dcof & foldalfosfid B efall ue fadre dhiford-

1. Ig Toh 2IS31d ueft g, ol oedd: Ide-Yd, a7ed TleldT, aeg-ud deiT 3ed
UTIgTq & U oAraT gl

2. 318, &H1.Cal. &1 28 fosee & g AT (Vulnerable) 0T & 3idvfd diaes
b1 ITaT 8|

IUeh A & BIoT-AT/A Hesal dAel g/8?

1. HID 1

2. PdD 2
3.1 3T 2 GlaTt
4.7 dl1, ol gl 2

The correct answer is: 3

Solution:

3de: (¢)
GTET .

o TfelITE 1312 §¢cs Uch a3 3HThTE bl o1 Ueft 8, ol g[sh d 68t
Aesary & fordTd dedT gl

o BADT Gl YUATIAAT; TS SIfCe 3FeaTeT dll aedaTssIfee dAadolt
BT AT YehTd HeeiuT dH gTeT ATeddl Ut &l

5/6



o CfRIITE E139Tel Secs Ydide TfeldT, Aeg-Tferdr, Aeg-gd Cferdr
deIT 3ed UTAgd & uTaT orT gl

o TfelaTs EI39TeT §¢CS o1 3.7, &1.Tal. ol s fosee & e
(Vulnerable) 20Tt & aides foodT I1aT1 8l

. T3 &1 A, UTfdh&dlol dehie of dHal shT3dl 3T emgl ufeare & &l
3cd TG bl EI3dTEN 9&Cs bl felb e el &1 3Holdfd Gl aTed
Aoy yefdre ardl [ d g1 9Medend g & Urfoedrel & gddb falhTe
CAREEIRE R

S UBTe, B 1 3 2 Slail Aal &1 31d: fAd e (b) Tel 3a¢ &l
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